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L. Consider the circuit shown in Fig.1, the Zener diode is ideal and the diode voltage V2 is 3
V. Determine Jz, /;, and power dissipated in the diode. ( 25 % )

2. For the amplifier circuit shown in Fig.2, the transistor parameters are: Voy=0.75V, K, =1
mA/V?, and A= 0.

(a) Calculate the quiescent drain-to-source voltage VDSQ. (10%)
(b) Determine the small-signal voltage gain 4, = vo/vi. ( 15 % )

3. For the CMOS amplifier circuit shown in Fig.3, the transistor parameters are: Vyy = + 0.75
V, V1p=-0.75 V, k's = 80 uA/VZ, k', = 40 WA/V2, channel width/channel length (W/L), =
20, (W/L)p = 30 and X, = %= 0.01V"!, Igies = 0.2 mA. Calculate the small-signal voltage
gain 4, = vo/vi. (25 %)

4. For the transistor in the circuit in Fig.4, B = 100 and V4 = . Find the small-signal voltage
gain A, = vp/vs. ( 25 %)
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